=

ApTHUKYI

HamMeHOBaHME

=
o)
=

T'alixka M8

KC55-10

MapHMP

T'alixka M8

KC26-04A

Tara

T'alixka M8

larba 8x22x2

[lmacTmHa

BonT M8x55

OO J| |0 d|w| N

BonT M6x16

10 |KC30A-04A

Koxyx pemMHHA

11 |KC30A-07A

OI‘paHVIqMTeJ‘[b PreMHA

Boar M8x20

13 |KC42A-03A

HedsexTop B cOOpe

NN W WP RN R R RPN R R o s N s g R R o

14 |KC55-24 JlonaTka

15 |KC55-15 Marba

16 |KC26-11 ApanTep

17 |KC26-14 llecTepHa dYepBAYHAaA

18 |KC26-12 Ban

19 |KC26-15 ApanTep

20 |9071-01-20 MrupT 3x18

21 |KC26-16 Kprika

22 |KC26-10A KpoHWTENH

23 Bonr M8X16

24 T'aka M8

25 |4LXP900 Pemenb 4LXP900

26 |KC30A-08 [IpoxkJjamka

Momesib
CHeroyb6opumk O6eHBMHOBEM ST9071LE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 1




Ne ApTHUKYI HamMeHOBaHME Kon

1 |KC30-03C-01R Pyuka mnpaeas 1

2 |KC30-03-02 [laHenb ynpaBJIeHUSA 1

3 Tarka M8 10

4 |KC30-03-44R KpoHWTEMH poJMka 1

5 BonT M8x40 4

6 Bont M6x20 2

7 |KC21-02-2 Brysnka 2

8 |KC40-28 Ponux 2

9 |KCA28-04-03 HepxaTellb PYy4YKU 2

10 Bosr M8x45 2

11 |KC30-03-49 Tpocuk 2

12 |GB/T12-1988 BosaT M8x35 2

13 MnouuaTt 1.5x25 4

14 |KC30-03-09 Priuar xozna 1

15 T'amxa M10 2

16 |KC30-03-2 (M4) PyKOSATKa pes3MHOBad 2

17 |KC30-03-11GGP Pruar ynpapJiIeHUS 1

2 A <xp 18 |KC30-03-45 MpyxuHa 2
€ 19 |KC30-03-46 BaJl peuara 1
. i 20 |KCA28-04-04 PHYAT NpaBblil 1
21 |KC55-03-15 llatiba pesmHOBaA 2

i 4 5 22 MarGa 8 2

. ' : 23 Bonr M8x150 1

é@ o @ 24 |KC30-03-47 Cromnop 1
e B 25 |KC30-03-50 BaxuM 2

- ) 445 26 |KC55-03-25A TonkaTesb 1

/1 ) 27 |KC55-03-13A TonkaTesb 1

28 |KC55-03-11 IpyxnHa 1

‘ 29 BunT M8x60 1

30 |KC30-03-48 Bas prluara 1

31 Bakjyenka 4x10 4

32 |KC90-04-04A PykosaTKa C HNOOOTPEBOM 2

Monmerib
CHeroybopumk 6eHBMHOBHIM ST9071LE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 2




/1
// 5°

Ne ApTHUKYI HamMeHOBaHME Koxn
33 |KCA28-04-10 Priyuar JIeBBIU 1
34 Bosr M6 6
35 |KC55-03-05-6 Brynka 2
36 |KC30-03-14 [IpoBOma 1
37 |HYo4 BeIKJIIOUA TEJIb 2
38 |KC30A-05-4 TPOCHUK KOBHPLKA 1
39 |K @ é?:

40 |K ® SN

4L K QR @ @ 6 J

42 |K QL

43 |k g

44 |K

45 |K

46

47

48

49

50

51

52

53

MomeJsb

CHeroyb6opumk 6GeHBMHOBEI

ST9071LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

| Page 3




Ne ApTHUKYI HamMeHOBaHME Koxn
1 BonT M10x25 2
2 |KC90-02-21A Pyuka 1
3 |KC55-02-25A [ImacTuHa PYy4YKU 2
4 BonT M10x45 2
5 BonT M6x12 8
6 |KC30A-02-30 Ban 2
7 |KC30A-02-01 Kprmkxa 2
8 Bonr M6x20 1
9 |KC21-02-2 Brynka 1
10 |KCM24-02C-19 KpoHWTEMH poJMka 1
11 BonT M6x12 4
12 |KC21-02C-01 Tpocuk 1
13 |KC40-28 Ponuk 1
14 T'arika M6 1
15 Bosr M8x20 4
16 |[KC30A-02-02 IeTans coemMHMUTEJILHAS 1
17 |KC21-02C-03 OcHOBaHMEe OBUTATENA 1
18 Boyr M8x40 4
19 T'avika M8 4
20 |G250FDS Ieuraresr LONCIN G250FDS 1
21 |3LXP820 Pemens 3LXP820 1
22 |KC30A-02-03 MxuB 1
23 |KC90-02-16 MxuB 1
24 llamiba 8 1
25 16561-03-18 Bosr M8x30 1
26 |KC30A-02-04A Kopnyc TpaHCMUCCUM 1
277 Bosr M6x20 2
28 |KC30-02-12 HakoOHEUHUK 1
29 |KC90-02-07 BTyJsika JJaCcTUKOBAaS 2
30 |KC55-02-05 Tsara 1
31 Bonr M6x16 13
32 |KC30A-02-05 Kopnyc nommmMnHMUKA 2
Mogpernb
CHeroyb6opumk O6eHBMHOBEM ST9071LE

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 4




Ne ApTHUKYI HamMeHOBaHME Koxn
33 16200 Hommmnuyk 6200 4
34 Komnbuo cronopHoe 25 1
35 |KC21-02-13 [MooUMITHUK 1
36 |[KC21-02-12B HepxaTelsb IMUCKa OQPUKIL. 1
37 |KC21-02-11B IrcK QPUKLMOHHEIM 1
38 |KC30A-02-06 Brynxka 15x20x15 2
39 |KC30A-02-07 llecTepHs 1
40 |KC30A-02-09 BaJy mecTuUIPaHHEBI 1
41 |KC30A-02-11 3Be3nouKa Majlad 1
42 |KC30A-02-12 Brynka 12x15x8 1
43 |KC30A-02-10-2 Bay npomMexyTOUHEIN 1
44 |KC30A-02-10-1 3Be3ngouka OoJblias 1
45 1085-32 Dens 085-32 1
46 |15X4.80-7 Nokpemnka 15x4.80-7 2
47 |KC30A-02-13A Inck kxoJecHemr 7" 2
48 Boyr M6x16 4
49 |KC90-02-11 Kopnyc NOIWMIHUKA 2
50 T'avika M8 6
51 6205 HDomumnumuk 6205 2
52 |KC30A-02-14 Brynka 25x34x16 1
53 |KC30B-02-02A llecTepHs 1
54 |KC90-03-07 BaxuM koJjeca 2
55 |KC30B-02-03 Ock koOJIeCHasd 1
56 linoHka 6x4x45 2
57 linoHka 8x7x22 1
58 Mrudpr 8x30 2
59 |KC30A-02-21 Brynka 25x34x6 2
60 BonT M8x30 1
61 |KC55-02-21 PONMK HATSIXUTEJIS MaJl. 1
62 |KC30A-02A-4 KpoHWTENH pPOJIMKa 1
63 BomT M8X45 1
64 |KC30A-02A-5 KpoHWTENH pPOJIMKa 1
Monmerib
CHeroyb6opumk O6eHBMHOBEM ST9071LE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 5




Ne ApTHUKYI HamMeHOBaHME Koxn
65 |KC55-01-24 Brynka 1
66 |KC55-01-27 Ponmux HaTaxMTesis OOJIbION 1
67 |KC55-01-26 Maba 1
68 |KC30A-02-31 HakoHeuHUK 1
69 Maba 12 1
70 Mlarba 12 1
71 |KC21-02C-09 duxcaTop 1
72 |KC90-02-15 [IpyxMrHa 1
73 |KC30A-02-23 KpoHumTenH 1
74 |KC30A-02-24 Brynka 13x20x20 1
75 Bosr M8x16 2
76 Tavxa M12 1
77 |KC21-02C-12 [IpyxmnHa 1
78 Bakyenka 4x12 2
79 |KC30A-02-25 [InacTuHa 1
80 |KC21-02C-13 MxuB 1
81 Bont M6x20 3
82 |KC90-02-12 delta bearing seat 2
83 |6002 Homumnumk 6002 2
84 |KC30A-02-27 IJeTaslb KpeINJIeHUSI 1
85 MrudrT 1.5X25 1
86 |KC21-02C-17 IpyxnHa 1
87 |KC90-02-31 Ban 1
88 |KC30A-02-26A Kpelllka HMXHASA 1
Mogpernb
CHeroyb6opumk O6eHBMHOBEM ST9071LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

| Page 6




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |KCA28-01-01A Ieka 1

2 |KC26-01-06 KpoHurenH 2

3 |KC55-25 T'avika JIaCcTUKOBAS 4

4 |KC42-01-02 [IOJIO30K I1JIaCTUKOBEIM 2

5 llarBa 8 6

6 Tarika M8 19
7 |KCA34-01-10 [Ios1030K MeTaJlInueCKUM

8 T'avika M8

9 |KC30-01-02A [lmacTrHa OeKu

10 BoaT M8x16

11 BonT M8x18

12 |KC42-01-05A Kprlllka IOOUMIIHMKAE

13 |SB205 HNomumnHmk SB205

14 |KC42-01-04A

Kopnyc nomumnHmMka

15 |KCA28-01-02

IlHek NOpPaBHI

16 llamnba 8
17 Barayumka
18 |KCA34-01-03 [IpoBxa

19 |KCA34-01-04

BonT cpe3HOM 8x42

20 |KCA34-01-05 PenyxTop
21 Tanika M6
22 Mlarba 6

23 |KCA34-01-06 KpeibuaTka

Bosar M6x40

Bosar M6x30

26 |KCA34-01-07R

KpoHWTENH NpPaBEM

27 |KCA34-01-07L

KpoHWTENH JIEeBHMN

28 |KCA28-01-03

IHek JIeBLIM

29 llatiba 8

30 Bosr M8x20
31 Bosr M8x20
32 Bosr M8x25

BIBRININ RPN ISR NN AR INDINDIND OO N

CHeroyb6opumk 6GeHBMHOBEI

MomeJsb

ST9071LE

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 7




Ne ApTHUKYI HamMeHOBaHME Koxn
33 Buur ST4.2x9.5-F 2
34 |KC55-01-21 IepxaTesib JIONAaTKU 1
35 |KC42-01-20 KopnycC nOIMWMUIIHUKA 2
36 |SB204 Mommmnuuk SB204 1
37 |KC42-01-22 kB 1
38 Manba 10 1
39 Bonr M10x25 1
40 linonka 6x20 1
41 |KCA34-01-09 Mlarba njacTUKOBaS 2
42
43
44
45
46
47 |KCA34-01-14 Brynka pe3mMHOBAaL 3
48 |KCA34-01-15 Konpuo zmedieKkTopa HMXH. 1
49 |KCA34-01-16 KonpLuo zmedjexTopa MeT. 1
50 |KCA34-01-17 dukcaTop nedjeKTopa HMXH. 1
51 |KCA34-01-18 dukcaTop nedleKTopa BEpPX. 1
52 BonT M8x20 3
Monmerib
CHeroyb6opumk O6eHBMHOBEM ST9071LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

| Page 8




Ne ApPTHUKYZ HamMeHoBaHMe Kon
1 |KC42A-03A-1A HedyexTop 1
2 |KC55-03-17 [IpyXMHa 1
3 |KC30A-05-2 [IpyxMHa 1
4 |KC30A-05-4 Tpocuk 1
5

6 |KC30A-05-3 Tara 1
7 [yracTuHa 1
8 lleTss 1
9 Ocb 1
10 Bakjenka 4x10 7
11 [MeTnsa 1
12 Kosepek 1
13 lManba 1
14 |KC42A-03-4 PemeTka 3BammTHadg 1
15 lManba 1
16 MnameaT 2x16 1

CHeroyb6opumk 6GeHBMHOBEI

MomeJsb

ST9071LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 9




